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1. What is the product of the following expression?

(3x+6) ETE D
A ooz 3K<§x+@>+é(%x—t C—,.\)
B. 9x’+36 2
Gx+1x+r |dx135¢
C.  9r'+18¢+36
s **‘*_-—‘-ﬁ 2 g “ “;
Q 9x%+36x+36 D x S56x v 5L
2. If the first ,§0Vg3= -9, which equation represents this sequence?
J . -jf/{&c)
-9! -4’ 1,6, 11

oel el & S eecc n €

A Next Now 5 J
f\gx Next Now+5 i5 o

C. Next SNow 1

D. Next=5-Now+1

3. The senior class at a local high school is raising money to purchase a
new $1,350 lighting system for the school auditorium. To date, the
senior class has raised $450. If the seniors plan to raise $90 per week
for x weeks, which inequality can be used to determine how many

weeks they will need to raise at least $1,350 ? , qon )
W50 +3k 21350

A 450-90x<1,350 w\L ey 1 ) L oo e sl

B.  450+90x<1,350 Ve . Wiw ot \easr

C.  90x-450>1,350 'S 50

D. 90x+ 45021,§§

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
of items from online presentation to PDF format.



2 x - 4 is shown below.

The graph of y

4,

I

i

i
i
t
i

i
1L

g s e g e s

H
H

W SO

i

e o ;TS, wa.z.. FR S

t
i

o ot

Akdrcept

[y

XL

i

|
1
i
i
i

e o s
¥ 1
H

i
i
t

i._‘...fﬁ.zi-fi:;:;4.?51.?.
o] N e e
1 h § i i1
EReEely S IR CTD: AR ks LEEN, WS

i |

B o EA S

m

1
SE

i

e

!
;

i
1
i

|
f

SEVIES: DR T

_

e

L

i
i ." m 1
HE BN G
B A e
IS SRS, DU ity R

it Sen

=
et

i P

§ 4 w

i : Rl =

{ i |

i | } i i
e taa It o .jwi ; |

i | : : ;
SR i /RN B S

4x - 4 . Which of

If the slope of the line is doubled, the new equation is y
these is a correct comparison of the two lines?

The x-intercept and y-intercept change.

A.

The x-intercept and y-intercept stay the same.

B.

e D

N e —

T —

C.

The x-intercept changes, and the y-intercept is the same

o= —
o B s A e

e e mheame e,

R

The x-intercept is the same, and the y-intercept changes.

D.
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5. Which of these shows the following expression factored completely?
6x2+15x-36 & 7) 303—5 .\n‘\--@ m“ @( "%'"chzm
2(2x?+r B x-|2) ac: 2. —\2

A, (2x-3[x+4) ‘
B(ZxFa49x -3 A"‘\Z,) - 7 2’4&
B. [x+91x-4]

G2 =24
3 (xtx -3(w) T
0. Tde- 2(x+4D (2x-3)
6. A computer technician charges a one-time fee of $50 plus an

additional $20 per hour of labor. If an equation is created to determine
the technician's total charge, what does the $50 represent?

A. slope J | (
Ovie. — 1t e Cee
B. coefficient MNe €

C. x-intercept /
> - T 4‘-

& D. y-intercept )

oy

7. What is the solution to the following equation?
10x2+x=9x2+ 2 lIOx%F X = Q& +2
- C‘?)(Zr "Q}L“@"

A. x= -lor x= -2 )(’L X =z

—_a
B. x=-lor x=2 Py w -2 = D)

Co wtoaaz > HEREDTE
. - sl 5o

s -z 0 x= |
D. x=1lor x=2

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
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8. Based on this scatter plot, which equation could be a line of best fit?
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S5 o e e i e S e e
i i i j i P, i :
e (IR SR ol i, B MY T R CER. 0 SR B, i
e | B s v R
i L A R0 . 2
: Lvsé- x
0 2 6 10 14 i8 22 26 0
e

y = -5x +85

y = 5x+110

y = 5x +85

dﬂwfﬁﬁt fp\iﬂ—‘”}
r>§f7tf—~

9. Which equation represents a nonlinear function?
-~ T ””“‘”’\-m\
- A y=x5 )
S N
=3
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10. Whatis the product of the following expression?

I g

B
ZX(X2+X—-5)
A. 2x3+x-5 ’Zx & )trz‘ A 2';%_. ). b Z%— s %
B. 2x3+2x-10 2
-3 i 2z
X+ 210X
C. 2x3+ 2x2-5x

2x3+2x2-10x \\j

By

11.  The enroliment at High School R has been increasing by 20 students per
year. Currently High School R has 200 students attending. High School
T currently has 400 students, but its enrollment is decreasing in size by an
average of 30 students per year. If the two schools continue their current
enroliment trends over the next few years, how many years will it take the
schools to have the same enroliment?

I _
\\ﬁ 4 years.d Rz 72004+ 20 j
B. 5 years T= 4o0 ?3@3
C. 10 years o
Zoer 1Py —Hoo- ﬁf"j
D. 20 Years B WEE 5 X= 1 Bﬁj
Lz o< -
“%Qﬁ/ o g =
S o il
12.  Students were asked to write a trinomial that could not be factored using

integers.
Pat Wrote: X2+3x-10—"" ( »~ %B (x - “:L)

Samwrote: X% +x-12 = (x+H (=3

e

L

Mel wrote: X>+2x-1

.,

Lee wrote: X>+2x-3 . LY* i %) (x=1)

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
of items from online presentation to PDF format.



Which student followed the given directions?

A. Pat
B. — é@m
- S
(e wel
D. Lee

13. The population of a type of bacteria triples every minute. The chart below
represents the population of bacteria after ¢t minutes.

i Bacteria
Population
0 1 ) BN
1 3
- ! ,) A
%
2 ).
3 27 ’7 %
4 81 t) B
5 243

Which type of function represents the data?
A. linear
quadratlc

B
C. “ exponentlal
D

absolute value

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
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14. Simplify: ( X

(R

-
if*d
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kR

k’ kg
X
x

15. A scatterplot is shown on the graph below.
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Which of these could be a line of best fit? /

A. y =x+100 /

B. y =x-100 rd
j w | e

C. x =100 W/
(n = 100

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion

of items from online presentation to PDF format.

;@,‘7«&_



16.

Sﬁg) YV = ”‘.,

What is the area of the rectangle, in square units?

A 38
P
B 48,

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
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The areas of the two figures shown below are equal.
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Beth and Jacob are graphing two equations on a coordinate grid.

Beth has graphed the equation ¥=X"+1

17.
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where will his graph be in

m\ajje?
Thus

X2+3!

relation to the graph Beth

If Jacob graphs

Yrim, +)

Z YW 6 e

\S

)

2 Units up.~

——

i

; B
E——

A.

C

3 Units up

2 units to the left

C.

3 units to the right

D.

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion

of items from online presentation to PDF format.



18. Which pattern is different from the others?

A. f(x)= 3x+1

X y / ) T - 'ijﬁ'
—5 ~-14‘/ 5{"5)‘“— ¥
: - =
- 4 | 12 (4> T =
@12 36
s =3
2(-2)+ '~
3(574—\ = 'A
C. 9_0 \J-; ?,)(_ ‘ﬁ'\

-

oy

g e

5@

j:%x*‘

" t.llﬁ:'"_ﬂ Eﬂ:y@‘f_ '7‘4( /; ‘

BERNIE i)
D. Y
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19. What are the x-intercepts of the following equation?

=x’+3X4+2 —> - ( x +|)(x«?—2/3
Z(l)am v YT

A. o
. This 15 s
2,0)and (1,0 , s
B. (-20)and (1 0) 5 vire 7
c. (20)and(-1,0 P v -
D (2 0}and (1, 0)
G" ‘}03 + (-2,0)
20. Which expression represents the output of the nth term?
O | Input e 2 3 4 5 X
—| |Output{ 1 8:.].8 7 g
T pom
= ?\—_;')) A 3 ff
AL n+2 Slpe of 2 o wp it e,{)
B. n+11 l\'j = g = |
C. 2n+ 1
AT g
xD. 2?1-1

21. What is the solution for the system of equations?

Sulo é{re .

y=2x-3
dx-3y=31 ~ ° 4y -3(zx-2)= 3
T T
S a— ani “2x 4@ = B)
B. (—11,-19) - - 9
- = %ﬂg_
C. (11,:19) 2. -z
| X =~
14, 25
D. ( ) 3 = 7 (w\\)-}
= =25

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
of items from online presentation to PDF format.



22. A group of students surveyed classmates about how far each student
travels to school each day, in miles. Ten students' responses were
selected at random.

43,26, 18,12, 97,8, 20, 6,9, 32

The student who lives 43 miles from school decides to
transfer to a closer school. Once this number is removed
from the set above, by how much does the median change?

/ % 2 | 2¢ D, 43>
s i";%ﬁ}n/ }J/\5[|7!ff ; /
w“’““‘x‘*\\ Median o€ 13.5
e B 153 ‘ e s
——— 1D 72 2 &
C 3 (0 ¥ Vi c'? \ 'Zb E ﬂb } J /
. / { 1 /
D. 4.5 Ne wsr WA @el e
a "ﬁ:h ga’;;« m\
12,9 - \2 ’QL;:’ .
23. Given two equations of lines:
i 1 — & g\ve ‘@t}f” "y’
= ——x+2and -2y= —x-4 J
@-‘ s - - . il
%%%NM% ;2 %{ _?4 p = rm’_g
"*f’.;‘{ 2

% ‘t’hl«- P l =
How do the lines compare? e £ D ﬂ = e 2

Lﬁ.

A. They are different lines with the same slope.
B. They are different lines with the same y-intercept.

C. They are the same line, both with a slope of 1/2 and a y-
intercept of 4

g
i O g,
a8

mey are the same line, both with a slope of - 1/4 anda y-

Nt D

T
e T oy

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
of items from online presentation to PDF format.



24. If the first Now = 5, what formula can be used to find the terms of this

pattern? S e L .2
Y Ay T e
5,"' 10' 20,""4“, 801"

A. Next=Now-15 ’ Mgt {a—ﬁ-j b o 2 eack
I M'mmmmm'"”‘“w--mx i 7
(_B. ext=(-2)Now e TR

e A o - en

C. Next=2-Now

D. Next=(—4)-Now+10

25. Which is the simplified form of this expression?

(2x+3)(x—-6)-2x*+3 x+30
4x2-6x+12 ¢

A MM,:HPC:) o
B. -2x2+6x+27
x(zreez) = ¢ (2 -h‘%}
C. -6ex-12
el D Zx? 42 =\2x ~\9%

e J
Zx* ~ At -\ %

{ rﬁ i,hi & ‘% Eo iy oy

i'éi'%h‘&ﬁfﬂ ¢ e v\ Aol e

M'{ - x-\d - ?:wx«f"%%n B B

—br *+12

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
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26. Which system of inequalities describes the graph?

? ey a6 72,
i

SN oinel ’:’l"P’e’ ot 2
;_,T.Wi_mé._n 68 i o e ,;W, g .. i
e RO N .k;__.. T SRS S S—- Y— 1 gi e = -" g ¢ .: 1
::”._?m__..,}..._ _,.gn..,,{;,.....:ﬁ.‘h. .,”:;.“..“ I S el B R Ap"‘—t—e—bc- %‘ ne ;
g
. (j x -2

| PR
ol b
B %
0 \\j it 2k Z) 5fa67e.
] &
i oG L padef
SRR %, f
HEne Wit sel. £ line

c. Jy>3

ys -%x+2

D. y2z 2x-3

y< -3x+2
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27. What are the x-intercepts of the parabola?

B 0 R B
FE O X okttt ! L
505 R |
1 ! i %
1 H % | S O T A st
i P & ‘ .g. i i I e _! : S ;L»{. ]
F e o s o 8
e I 4 \ i Ij o ( 5 o
—r e U2
N L o LA
(-, 0> TS
g ; ; Lo P
) “I R 7 & X
e T I S R e SO RN, S | SR S
o 0 B e . I 58 R LR
i EERRE R EN i
AR ! P
e o oo e Sk I IO | S NS O S| S VI LA S
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5 i ,,,.Mg.d}“éu Lt i } ,Aw,..%w; ! !
Lo w.;uwg. 5, RS TR, 2 T e 1 i I 22
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I L ; .
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(21'.0) and (-9, 0]

s
i g

i,

(-1, 0)ang (5. 0)™

(0, -5) and ( -5, 0)

A {0,-1) and (0, 5)
C

§

—

B.
D.

28.  Which equation represents a linear function?

e \\j = MArL = hvear r

xy=1

>

y=xz

o oW

x=}

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
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29. What is the y-coordinate in the solution for the system of linear

. 5 .
equations belowé-?/(l ol e fe el Lo A

- -
L} -3x +2y=6 --I'Zx‘!-%’y:«' 24

M ZYE2 o gzx 3y =

A
=
B 1 - b
c. 2 J
D. 6
30. Which equation describes the line of best fit for the scatterplot
below?

—\ ktrcept e Awreen
S +06

oy Y
P , X =95 ““27’ 3 X

nn H J
i R {4 j b
HUERENEENERE CETEN
%«w ,.M.w«{"..u.i,._..? L.,k,ﬁ_._, ot .V.,.Tu ..,%.... f .
BHERRENAGNEEREREN

o

) L eafinmratares b e et oo s R SRR P SRR S

B O R W

I O ! -3 ;

| HEE . =t EX T
31001 1 0 S

——
-

A y=-hes

C. Y=-3x+4

D. Y=-3x+5
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31. What is the simplified form of the expression?

ax’y _ W Y

p. 2x8y>

32. Sam and Candy begin at the same place and drive in opposite
directions at constant rates. Sam drives 15 miles per hour faster than
Candy. After 2 hours, they are 230 miles apart. If Candy's car gets 20

miles per gallon, how many gallons of gas did she yise?
wowl & { C&L&?éﬁt{ ® ‘}?é&":- !
‘v \-—-—-"’—"ﬂ

LA + 2(x+18) =3O
—P

5.0 gallons

. Sain's
gallons 4 peced

C. 6.5gallons I2x + Zx tBO T 230
D. 11.5gallons Yy + B < 3% 0
- Bl -2
Hx=2 po

5;% - &-.».?-_

X =56

Z*X =72 .99 =100 it lee
~ lgallon s
100 miWfe o 200 o I
4 lans
20 wmuhe?
Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
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The graph o y=x? is shown below.

33.

[y

!
|
TN i Sl T

W ST |

)

LD-

2 W‘JE

.

£
Gl

i

i

1

%

t !
e S e S “

L

!
i
|

T

1

]

H

:

o

i

? S T i e o
%Lfé,w,,fm s 830
BE A el 1

R O
5 r,-ii%,w,; =

Y

oo e .Mwu‘.m..-.,%..@_-..g. SO, | § SRR

¥ 3
! {
i | _ i
i ! I i
i m ' i
PRSI S IO S SNV SO DUOV: SR OIS S SN - sed
H | i g
i | ; i £
T . o PR WS o = o M
! ! : “ [ 3
b il e B o e 5 TR ST, | D S Y
H i | : e

3 t i H
i 1 i i S i : m.i?..w

If the graphed function is translated to - x*12 , which ordered

pair would represent the new y-intercept?

(' 2, O)
(0! - 2]

C.

D.
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34.  Sandy has a total of 35 coins in her money jar. If Sandy's jar contains
only nickels and dimes and the value of all the coins is $2.50, how

many nickels does Sandy have? T Gavaate A to Lined ¥

-
A5 g wntel=35 =0 1% 0. jod= 55
B. 15 05n+ iped = 2.50 :08n +0.0d:)5

( € 20 =il BB B &

oY ey

D. 30 “ &, ;ﬁ"“f -Di¢%

N= 20

35. Alineis represented by the equation 3x + 2y = 4. What is another way

to repre the same line?
A e e Zet 2y = M

5 A N
B y=3x+2 - P -
s P
C y=5x+4 .
i'é?.
D = wgxtd

Please note: This document may contain minor spacing and formatting inconsistencies due to conversion
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36. Two linear functions are represented by the set of ordered pairs and
the graph below.

{(-4, -6).(-2 -2).(2, 6), (4, 10))

& :
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5 36
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L
S
gh,...i i fﬂjl... i
ETa
R i b m A

Which statement describes the relationship between the functions?

b T S
s '

s |

The lines are parall_Qlf/

The lines are the same.

The lines are perpendicular.

O o ®m P

The lines are intersecting but not perpendicular.
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37. What is the equation of the function represented by this table

of values? g:'/\ . “Vatettep s
0| 1] 2

x |—-2]—-1 :
vzl 213 |s|7s <
‘d
A. y=5X+3 .B -5 a% %t

B. y=12x+3

e ﬁ_.‘_’;.h-;‘::,:c.,_?u__\‘

C;C)i y -— 37. -SX r ’~..\"

e —

D. y=53

38. Alex noticed a relationship between the amount of television he
watched each week and his test scores.

Y Effect of TV on Test Scores
100 —— u.i._. e ...... e e g ‘,u..m,,“?,,(w. ,d,‘,%,.m}.‘,.. _mr

i
i

H

i
i1
i
A PSS S
i

Test Scores
~J}
on
i
et d
{
%ﬁ
b -
e

i R

S -
|
o
4
IS)
D
i
N
*

;
 —
oot
WA WS S
i
—

R
=
-

55

o

o f -
~ o
w»«

Time, in hours

If this pattern continues, what will he likely score on a test after
watching 10 hours of TV?

A.__41
i w:"‘k\\\ . _..,,w-*""""f
(B 48 & T
C. 54
58
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39. Whatis the solution to the following inequality?

13(6 - x)2 -2 9 - é x = 2

A x20 -2 5 '.~ é

T & e -1 - T

C. x212 ‘{\~-M___ﬂ__f/ %‘:;ff < “
e

40. The director of a play must decide how much to charge per
ticket. If tickets cost ¢ dollars each, a total of (75 - 5¢) people

will attend the play. Which ticket price will generate the most
income?

(75-Sedr ¢ Lok €
tic_

7%"%5‘, = O Vettesx

Verte,e o

7% = Se

e ;e

i 5

be.tw eesm

veele

4 ) ) ¢
y_ﬁ W W ey e buresa Q A g¥
f _: v

1S 1 7.5
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* Design another box that Joe could use that would cost less than $60.00
to ship and would have the same volume as the box shown above. If each
dimension must be a whole number, what are the dimensions of the new

box?
I = lg in. \ = 20-24°b V olrsre

% in Vo 2 %%0
h= }Z’in.

f

2 %60 = Lo i
LO > 3+ (2o (L rwt Ef’mq}

L lwll Lot | By 1z00ermr i)

‘1 "’% | %0 2 430 | 2,,, 2. g ’ é ﬁ} &= ?“{Ew 2T “y f A4 ale -
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